             Semi Serious Statistical Survey

       An informal examination of your stats background. This is NOT an official exam and no official grade will be recorded.

      In the questions below, mark all that apply 

1.  Have you ever taken a statistics or biostatistics class?
a.  Never

b.  In high school

c.  In college – undergrad

d.  In graduate school

e.  Other ___________________

      2. A p value is:

a.  A value from a urine test
b. A probability of data given a hypothesis

c. A probability of a hypothesis given data

d. A number between 0 and 1 

e. None of the above 

3. Another name for the normal distribution for continuous data is 
a. The “bell” curve
b.  The Poisson distribution

c.  The Gaussian distribution

d.  The Binominal distribution

e.  The Assets distribution 
f.   All of the above

g.   None of the above 

4.  If  M is the mean weight from a sample of n=10 rats, and SD is the standard deviation of this data and the data (weight) follow the normal distribution,  the mathematical object (M – 1.96 SD, M + 1.96 SD)  is called
a.  The 95% prediction interval

b.  The 95% confidence interval

c.  The 97.5% prediction interval

d.  The 97.5% confidence interval

e.  The error bars

f. None of the above 
5. DNA expression on a certain segment of chromosome 12 is compared in 10 adult women with breast cancer versus 20 women of the same age and ethnicity without breast cancer.  The design of this study is called
a.  A prospective study

b.  A cross sectional study

c.  A case control study

d. A clinical trial 

e. An observational study 

f. An experiment

g. None of the above

      6.   If a fair coin is flipped 5 times and has come up “heads” all 5 times, the probability that the coin will come up “tails” on the next flip is 
a.  Unknown

b. 5/6

c. 1/2 

d. 1/6

e. 1/5

f. 4/5

7  In an experiment to treat tuberculosis (TB) in mice, Mc is the mean weight from a group of 9 control mice and SDc is the corresponding standard deviations of their weights. Mb is the weight of a group of 9 mice treated with an anti TB drug and SDb is their corresponding standard deviation. The mean difference is Mc – Mb.  The corresponding standard error of the mean difference is 
a.  SDc – SDb
b. SDc + SDb
c. Sqrt(SDc2 - SDb2)

d. Sqrt(SDc2 + SDb2)

e. Sqrt(SDc2/9 - SDb2/9)

f. Sqrt(SDc2/9 + SDb2/9)

g. Cannot be determined without more information

h. I have no idea what this refers to 

       8.   A statistic that measures the association between age and glucose level is

a.  An odds ratio

b. A risk ratio

c. A correlation coefficient

d.  A regression coefficient

e. A rate of change 

f. A mean

g. A median

       9.  Ovarian cancer cells are implanted in mice and tumors are formed. Mice treated with a new drug show an average 30% reduction in tumor size after one week compared to a control group that shows an average 10% increase.   The “ p value” for comparing one mean (the 30% reduction)  to the other (the 10% increase) would be computed using 

             a.  A chi-square test

             b. A t test

             c.  A c test

             d.  A pap test

             e.  Fishers test

             f   none of the above 
